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Note: (u) All questions are compulsory

(h) The candidate is allowed to make Snitable nunmeric assumptions wherever required for solving problers. . - ’

Marks

Q. Question
No .
Q1 [ List only the names of all phases of SDLC in the waterfall model ang 1 z
write the outcome of each phase. =
Q2 | Draw the table below in your answer book and fill in the mlsbm;, entries. 2 3
Show the calculations below the table. The shoricut meth d:is allowed for
conversion. : 2
{(137h0 ()
(LI010110), ( ho
(FFA}, { )s :
Q3. 2 2
A B A-1B
13 4
17 0
. -9 ‘ -7
Q4. Ass;hné that an iriteger will be stored in signed 2’s complement form in 2 |
[6 bits. Show how 175 will be stored and how 1111 1011 1101 $110 will
be converted into an integer.
Q> | Assume that an integer is siored it 16 bits. Given x = 78 and y = 21. 2 |
Compule the value of z where 7z = ~x " v,
Q6 | Write a program to check if a number is a prime number ornot using a 3 2

while loop
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Q7. | Predict the output of the following code snippets, or write the name of the 2
error if they don’t compile. Assume that the code will work fine
without the return 0 statement and int prefixed to main().

A) main() B) main()
{ {
int x; SR
printf("%.4£", 6.25): printf(*%d", 2<3<1):
} )
C} main() D) main{)
I/ {
v 1
printf(**%d-%d”, printf(*1 ), printf(*2 7)); | printf(*%f”, 6%2.0);
printf{(*%d”, (1,2,3)}; printf(*%d”, 6%-5); "
} } '
E) main(} F) main()
{ intx=1, y=2, z=3, p; {
p=Hix || y++ && ++z;
printf(“%d”, p+z);
}
G) main()
{intx=1.2,3; .
printf(*%d %o %X", 012, 0x12, 12);* ;
printf(*\nx=%d", x); ' if(-1) printf(“ves™);
} }
Q8 | Write a program to print thés‘ﬁgllbwing pattern with the help of nested 2

loops.
(6151413
121110
g g R T

E

You are allowed to use only two loops and two printf statements.
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